Montageanweisung
Lenkrolle fur
eurorack

Assembly instructions
Castors for
euroraciks

Schroff®

Instructions de montage
Galets de roulement
pour euroracks

Adi1406

(@ Sechskantmutter M 10

@ Rahmen

(@ U-Scheibe @ 29

@ Lenkrolle

(® Distanzhiilse

(8 U-Scheibe 10,5

(? Zahnscheibe 10,4
Sechskantschraube M 10 x 50

(1) Hexagon nutM 10

(@ Casting

(@ Washer @ 29

(@ Castor

(® Spacer

(6) Washer 10,5

(@ Shakeproof washer 10,4
Hexagon bolt M 10 x 50

(M Ecrou 6 pans M 10
® Cadre

@ Rondelle & 29

(@ Galet de roulement
(5 Douille d’ecartement
(& Rondelle 10,5

(@ Rondelle frein 10,4
Vis 6 pans M 10 x 50

HOFFMAN #“=.~ SCHROFF
WORLDWIDE

60117-290 Rev. 001



